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Which of the following graphs best represents a system of equations that b of - olution?
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There are 9 bhooks stacked on a shelf. The thickness of each book is either 1 inch or 2 inches,
The height of the stack of 9 books is 14 inches, Which system of equations can be used to
determine x, the number of 1-inch-thick books in the stack, and v, the number of
Z2-inch-thick books?

ey - % 2\ = &

2x+y =9

G x+y=14

o Xy =

+2 =14

XX+}H=9
2X+y =14
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YWhat is the wvalue of x in the solution to the system of equations below?

Bx + 3y = 13

(3x-v = 4)
% 3&/

-
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A high school band held a bake sale. The number of cupcakes sold was four more than twice
the number of cookies sold, The band sold a total of 52 cupcakes and cookies., How many
cupcakes were sold? x

J3

G 16 X-‘(%z 59»

Y= W Y
;73-!—&5'-"—'52_

Y= 2 2L ‘)—\093 =

28 =424 !

2L =RV
| 2=\)~
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The sophomore class needs a combined total of 216 medium and large T-shirts for field day.
The number of medium T-shirts needed is three times the number of large T-shirts needed,
Based on this information, would it be reasonablg fgr the soplomore class to order 72 large

T-shirts and 144 medium T-shirts? | |_\\)( 3\% Tm=— 3|_

@@, because the number of medium T-shirts is not 3 times the numberof large
-zhirts

B Mo, because the number of large T-shirts is not 3 times the number of medium
T-shirts

C Yes, because the total number of T-shirts is 216

D Yes, because the number of large T-shirts is % of the total number of T-shirts
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1. The business manager at Afford able Plurmbing
calculates the total cost, 2, to a customer by using
the eguation ¢ =862h+ 38, where & isthe number
of hours of work performed. The business
manager at Leak Free Plumbing calculates the total
cogt, ¢, to & customer by using the equation
¢ =58H+45 , where & isthe number of hours of
wark performed. How does the graph of the
equation used by Affordable Plumbing compare to
the graph of the equation used by Leak Free
Plumbing?

A The slope isthe same, and the wintercept is
greater.

B The slope is greater, and the p-intercept is
smaller.

T The slope is smaller, and the w-intercept is the
same.

00 The slope is greater, and the -intercept is
greater.

2. Mark and his friends are baking cookies for
a bake sale. The graph below shows the total
nurber of cookies they have compared to the
number of hours they bake. How would the graph
change if Mark and hisfriends were given 20
cookies when thev started bakino?
Cookies Baked
100 - - - -
BO}
B0t

Cockies
40 |

20
© 1 2 3 4 5
Time
(hours)

AThe yvalue of the y-intercept would increase.
B The slape would increase.
C The yvalue of the y-intercept would decrease.

0 The slope would decrease.

3. Findthe x and - intercepts of 2% +y ==&
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An electrician charges a flat fee of $50 plus an
houry rate to make a house call. The graph shows
the total cost for a job based on the flat fee and the
nurnber of hours to complete the job.

A‘UJ
{2, 130)

l 1 2 a

Caost (3)

Number of Hours

4. If the electrician changed his flat fee to $60,
but kept his hourly rate the same, what

would be the total charge for a job that took
3 hours?

5. If the electrician left his flat fee at $50, but
changed his hourly rate to $45, what would
be the total charge for a job that took 3
hours?

6. If the electrician changed his flat fee to $60
and changed his hourly rate to $45, what
would be the total charge for a job that took
3 hours?

7. Which best describes the change in the graph of

the function fx) = 5x + 4% if the y-intercept is

changed to?; ,while the slope remains

constant?

A The line shifts up 2%unit5
B The line shifts tothe right 31— units
= The line shifts up SJT units

O The line shifts down 2;—units.
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A syem is a set of 2 equoﬂ with the some 2
variables. Our goal is to find where the 2 lines touch!

tHow maw
Types of Systems g \\‘é*‘““é

GaME SKOS)| ~sames

one. Svron| b Saluhon ‘“"‘2‘;&\1 8
Methods to Solve ' oot t\(\\h
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4x - 3y =24 +2y=5

o y=ac 10 +oX+y=4

B 4= (n-18) =24 3y=1

, 4= %
x32b)=56

PROBLEM I: A truck is carrying 1500 pounds of cargo that occupies 138 cubic feet of space. A
television weighs 50 pounds and occupies a space of 4 cubic feet. A microwave oven weighs
30 pounds and occupies a space of 3 cubic feet.

Led the kelenisions WE &FT: SO+ 3=
L} m be ponnars STHCE: &k +2m=\3}

g e
| P%OBLEMZ Mark has $4.95 in qan\e?and d|r21e(s) He hasétlmes as many‘as quarters.
z D \
$ .dbq +.) v =Y.95 20 \D

B d= 34
4 osiems, !::m X“’b — ; INEQ\M
7 \

I/ INEQuALITY I %7 \,9: ;g,, :
"”WEQUAUTVZ: \5— x‘.s

GIVE 3 SOLUTIONS

W oo Sl 0

GIVE 3 NON SOLUTIONS
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1 With your shoulder partner...

Directions: Using any method (Elimination,
Substitution, or Graphing), find the intersection of the
two lines on your side of the paper. Be sure to show
your work. Your answer should match your partner's
answerl If not, check your workl

Due by the end of the period.
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Student 1 Name

Directions: Using any method (Elimination, Substitution, or Graphing), find the intersection of the two lines on your side of the paper.

Student 2 Name

May 01, 2014

Be sure to show your work. Your answer should match your partner’s answer! If not, check your work!

p=2x-1
Question I':J" *
[3x=2y=0

arwer: |

Question 2:{

3x-y=-7

x=2y=-4

anawer: ||

( 1
y=—x+2
Question 1: !J 2 o

l}.?—)f:}

Answer:

2x+y=-3

tion 2:
Question {3} Cay-g

Answer:

Question 3: {y B
¥

anwer: ||

=Tx+1
Question 3: ) v
y=10x-0.5

Answer:
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Which ordered pairis the solution to the systern of

uations below?
i a3y =
x+2y 10

3%;’—}__)\

Members of a senior class held a carwash to raize
funds for their senior prom. They charged §3 to
wash a car and $5 to wash a pick-up truck ar a
spart utility vehicle. If they earned atotal of $275 by
washing a total of 75 vehicles, how many cars did
they wash?

Manuel and Felicia are comparing how much
money they have. Manuel states that he has $250
and saves $150 perweek. Felicia states that she
has §1,650 and spends $200 per week. YWhich
systermn of equations can be used to determine x,
the number of weeks, and v the amount of maoney
at the end of the week?

4 ¥ =250x+150 g ¥ =250+150x
y =1650x — 200 ¥ =1650 - 200 x

o ¥ =250-150x o ¥ =250-150x
¥ =1650 +200x ¥ =1650 - 200x

Giventhe two equations 2x + 3¢ =12 and
2x -y =4 what isthe value of x 4 o7

A -5 B -1 co [

To solve the linear systern below, which
substitution of unknowns is praper?

Jx =7y =12
Jx -y =-16

Substitute 3x 16 for i in the first eguation.
Substitute Zx +16 for i in the first equation.
Substitute Sx 4 12 for yin the first equation.
Substitute 7y — 4 for xinthe second equation.

May 01, 2014

SO for
Wi = 3

B. The me3sure of angle x is 15° less than twice
the measure of angle .

—
—

Wihich systemn of equations will determine the
rmeasure of each angle?

¥4 p =90
A X4 ) =90 o w=2p-15
X =)y 15
2x =90
B x4+ =90 x=2y_15
x_lS—Zy D

7. Which point is a solution of the system of linear

inegualities?
Y <2x
y=3x+5
A (2,-1) B 4,1
Coo-1,4) O (1,-2

8. At what point do the lines represented by the
equations 2x + p+l=0and dx+ yp-3=0
intersect?

2,5)
2.5
1,1

-1

Do m

)
)
1.-1
8. Julie is planning to put afence around =
rectangular garden. The length of the garden is
Jfeetmorethan 1.5 times its width. If Julie
use s a total of 36 feet of fencing around the

edge of the garden, what is the length of the
garden?

A Gt
B 1321t
Co12ft
D 10451t
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